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[]

[1] 3.56
> abline(v = mean(data), col = "red")
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> var(data)

[1] 2.9861

000000 00000ooOo0oo (SD = vvariance)

> sd(data) o Histogran of data
: ooooooo
[1] 1.7280 = 000000: 000000
> 00— .
> Sqrt(var(data)) %wa Oooo0oooo:.:0o00oo0oo
[1] 1.7280 £
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>y <= 0:9 # 000000 @ooo)
> prob <- dpois(y, lambda = 3.56) # 00 00O0O0OOOOODOO
> plot(y, prob, type = "b", lty = 2) > # cbind 000000
° - > cbind(y, prob)

S e 00 (A O|356000 y prob

9 : *. Poisson disfribution 1 0 0.02843882

P ° 2 1 0.10124222

e I . 3 2 0.18021114

8 o 4 3 0.21385056

°l o 5 4 0.19032700

i ! T T I ! . 6 5 0.13551282

y 7 6 0.08040427

8 7 0.04089132

9 8 0.01819664

10 9 0.00719778
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Histogram of data

> hist(data, seq(-0.5, 8.5, 0.5))

# 0J00oo0ooooooboo

> lines(y, prob, type = "b", 1ty = 2) # OO00OO0O0OOOODOO
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> # cbind DOODOO0O
> cbind(y, prob)

prob
.02843882
.10124222
.18021114
.21385056
.19032700
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.04089132
.01819664
.00719778
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B lambda = 2.0 8 lanbda = 2.4 8 lambda = 2.8
log L = -121.9 log L = -109.4 log L = -102.0
R ER R
- w— w-
o o o
T T T T 1 T T T T 1 T T T T 1
0 2 4 6 8 0 2 4 6 8 0 2 4 6 8
89 lanbda = 3.2 ER lanbda = 3.6 B lambda = 4.0
log L = -98.2 log L = -97.3 log L = -98.5
=R ER =R
- w— -
o o o
T T T T 1 T T T T 1 T T T T 1
0 2 4 6 8 0 2 4 6 8 0 2 4 6 8
8 lambda = 4.4 8 lanbda = 4.8 8 lambda = 5.2
log L = -101.5 log L = -106.0 log L = -111.8
R R e
w0 ] w0
o o o
T T T T 1 T T T T 1 T T T T 1
0 2 4 6 8 0 2 4 6 8 0 2 4 6 8
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log likelihood

2?0 2!5 3!0 3!5 4!0 4!5 5!0
- 00000 (ML estimator): >, v;/50  coooo!
. 00000 (ML estimate): A =3.56 00 O
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R

data3a.csv 0 CSV (comma

separated value) format file 0 0 0 O
ROODOOOOOOOOOODOOO:

> d <- read.csv("data3a.csv")

Uo0ob a0b00Db0OD0O0O data
frame (00 O0O0O0O0O)0O00O0O

g
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000000000 (1+2)

gbooon

data frame d 0 0O O

> d
y x £
1 6 8.31 C
2 6 9.44 C
3 6 9.50 C
...gooo...
99 7 10.86
100 9 9.97
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Oo0oo0ooo GLM: DO0O0O000o0o

data framed 00 00O: DO0OOOOO

> d$x
[1] 8.31 9.44 9.50 9.07 10.16
[9] 9.93 10.43 10.36 10.15 10.92
...0ooo...
[97] 8.52 10.24 10.86 9.97

> d$y
[1] 6 6 61210 4 9 9 9 11
[17] 3 8 5 5 411 510 6 6
...0ooo...
(971 6 8 7 9

8.32 10.61 10.06
8.85 9.42 11.11

6 10 6 10 11 8
7 9 310 2 9
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data framed 000 0O: “000” OOOO

goboooboooboo fto0o0bboobboon

> d$f
[t cccccccecccecceccececcecceccececceccecceccecceccecceccc
[26 CCCCCCCCccccccececcecececceccecceccecceccc
B1] TTTTTTTTTTTTTTTTTTTTTTTTT
[76] TTTTTTTTTTTTTTTTTTTTTTTTT
Levels: C T

gboobdb:-0boboboooooob
oboobocoTthO 200
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ROODOOODOOOOOOO

> class(d) # d 0 data.frame OO0O

[1] "data.frame"

> class(d$y) # y UUODOUODODOO integer OO O

[1] "integer"

> class(@$x) # x JO0OOOO0OO0ODO numeric OO0O
[1] "numeric"

> class(d$f) # OO0 £ OO factor OO
[1] "factor"
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Oo0oo0ooo GLM: DO0O0O000o0o

data frame 0 summary ()

> summary(d)

Min.

1st Qu.:

Median :

Mean

y

3rd Qu.

Max.

kubo (http://goo.gl/iZRa3R)

~N 00 o N

.00
.00
.00
.83
:10.
:15.

00
00

Min.

1st Qu.:

Median

Mean

3rd Qu.

Max.

7.
9.
:10.
:10.
:10.
:12.

190
428
155
089
685
400

C:50
T:50

000000000 (1+2)
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Oo0oo0ooo GLM: DO0O0O000o0o

oooooooooooo! (ono)

> plot(d$x, d$y, pch = c(21, 19) [d$£f])
> legend("topleft", legend = c("C", "T"), pch = c(21, 19))

.
34°C .
e T . .
g— o L d
o e o e
8— oo e o @®wWowm
g\ L e emoecm® O .
© 00— ©° L L ®0 e & O
o e oo e
© — o e ® Ooawo ® ®Oomm o e L4
o ® ® eeoo
< — o © 0 L D D I:]
o o L
N — o
| | | | |
7 8 9 10 11 12
as$x
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Oo0dd £ 0000000 (DEI)

> plot(d$f, ds$y)

o

= - °
~ j
— I a— .
o_| I 1
=
oo -]
© - T .
. | | 0ooo
~- [

T T

C T
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Oo0oo0ooo GLM: DO0O0O000o0o GLM OO0OO00O0000

GgLMUOOOOooood

gobbboooobbboooob
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____cocooooaiveoonoono JRbiEEREEE
OO00odboogdodd

00000000 (GLM)
.O000ono?
.O000noono?
.O000noono?
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Oo0oo0ooo GLM: DO0O0O000o0o GLM OO0OO00O0000

GLM OO0O0O0ODODO0OO0O0OOoDObOOoOoOooooo

Oooodgon

.0000:0000 f}

.00000: eg., 1+ Pox; Lo X
0o00:(@0)+00) x

.00000: 0000000
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00 <« 00 (007?) 0000000000

e J0O: 0000
e U0: 0000

e 1O OOO (linear predictor):

(0000000)= 00 (00)

kubo (http://goo.gl/iZRa3R)

+ (0O 1)x (0000 1)

(00 2)x (0000 2)

+
+ (0O 3)x (0000 3)
+

000000000 (1+2)
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Oo0oo0ooo GLM: DO0O0O000o0o GLM OO0OO00O0000

GLM OO0OODODODOO0O0ODODODOO0OOoOoOooobOoOOoo

Jo0o0oodgogdnn

.0000: 000000 « -
00000 eg., B+ Pax; Ooﬁ"';“qg”{i ‘.
.00000: 0000000
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Oo0oo0ooo GLM: DO0O0O000o0o GLM OO0OO00O0000

GLM 0000000 legistic DO OOOOOOO

Joooooooooonbon
.00 goon
.DDDDD:e.g.,Bl—Fﬁgaji

e o
T T T T T
8 9 10 1 12

.O00000: logit OODOOO Do00o00d a
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ROODOODODOOOO (GLM)DDDD ......

good good GLMODOOO
(0D0) 0ODO0OU0O0OO0O  rbinom()  glm(family = binomial)
oood rbinom() glm(family = binomial)
oooooo rpois() glm(family = poisson)
oooooo rnbinom() glm.nb() in library(MASS)
(00) Doooo rgamma()  glm(family = gamma)
oood rnorm() glm(family = gaussian)

e sIm() OODODOOOCODODODDOOOOOO

e GLMOIODOOO0O0O00O0O0O0O0ODOOOODODODDOOOOOODODOODOOOODODD
goboooooboooboooooooo
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OO00o0dbooobodooodnnn

] .- . .|ooowoooanDODODOODOOOOOOD
soan . ooooo

«]° m - '.,a'.':b o )\y2 exp —)\‘

N . . p(yz' ‘ )\i):li(z)

7 8 9 10 1 B yz ‘
ds$x

00000 vOOOODoOoOoOoooooooooo...... ?
Ai = exp(B1 + Bax;)
«40 4000 (000000)
er; 000 :0000DOOf{00000000
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Oo0Oooooooooo?

i = exp(B1 + fax;)

\ (61,52} S|
= (2,08} © = {-1,04}

\

od g N\

0.0 0.5 1.0 1.5 2.0 2.5

-4 2 0 2 4
o0 00000 x
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GLM O0OO00O00000000 « @ooo)

00000 N

Ai = exp(B1 + Bo;)
()

1Og< > 61 + 52w2
lg(00)=00000

logOODDOOOOODOOODODOODOODOODOODODOO
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O00odboodobododnd

oo googgd Ny
.0000: 000000 o
.00000: B + Box; A4
.00000:000o00o00 4
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Oo0oo0ooo GLM: DO0O0O000o0o RO GLMOOOOOOODOOO

RO GLMUOOOOOOOOOO

gobbbooobobboooobooo

goboobooooboooooooon
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glm() 0OOOO

> d

y x £
1 6 8.31 C
2 6 9.44 C
3 6 9.50 C
..good...
99 7 10.86 T
100 9 9.97

oooo!
> fit <- glm(y ~ x, data = d, family = poisson)
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Oo0oo0ooo GLM: DO0O0O000o0o RO GLMOOODOOOOOOO

glm() 0ODOOOOOO
BRAEMTBLT TV

Fit)<- (giml BT mmanokE
vV ~ X,
family = poission(link = "log"),
data = d

data. frame DIEE o oBEBDEE (BEEH)

e J0UD (DOOUDO 2):00D000CDODODO?
e link U0: 00000 (y) DODO DODODO?
e family: JODOOOODOOODO?Y
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glm() 0OOOO

> fit <- glm(y ~ x, data = d, family = poisson)

all: glm(formula =y ~ x, family = poisson, data = d)

Coefficients:
(Intercept) X
1.2917 0.0757

Degrees of Freedom: 99 Total (i.e. Null); 98 Residual
Null Deviance:""I 89.5
Residual Deviance: 85 "“"IAIC: 475
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glm() 0O0OODOOO0OO

> summary (fit)
Call:

glm(formula = y ~ x, family = poisson, data = d)

Deviance Residuals:
Min 1Q Median 3Q Max
-2.368 -0.735 -0.177 0.699 2.376

Coefficients:

Estimate Std. Error z value Pr(>|zl|)
(Intercept) 1.2917 0.3637 3.55 0.00038
X 0.0757 0.0356 2.13 0.03358

...... @oooo) ..
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OO000000000000 (coooooooooo)

P (Estimate 0.0757, SE 0.0356)

(Estimate 1.29, SE 0.364)
b

0.0 0.5 1.0 1.5

.00 p0 00O00D0ODO ODODODOOOO
.p0000000D0 00O 0000000000
.p0 0500000000 000000

(0. 00000000000000O000000O00OOOD)
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0000

> fit <- glm(y ~ x, data = d, family = poisson)

Coefficients:
(Intercept) X
1.2917 0.0757

> plot(d$x, d$y, pch = c(21, 19) [d$f]) # data
> xp <- seq(min(d$x), max(d$x), length = 106
> lines(xp, exp(1.2917 + 0.0757 * xp))

gbooboboooboobod
gooobooooobod

T
7 8 9 10 11 12
d$x
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Oo0oo0ooo GLM: DO0O0O000o0o ooo0o0o0O0O0OO0O0O0 DooooOooooooao

gotuooboobotoo obobobooboood

GLMOODOOOOO

obo0 +000 0O0DOOo0obooon
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OO0000 f; 0000000

4 .- . .|0D0Dyo0ONDOODODODOOODOOO O
soan . 0oooo

DT e
1 plyi | 2) = =— 2=
7 8 9 d$i0 1 12 yl'

OO0 000 ;OOOOoOOooo
Ai = exp(f1 + Baxi + Bad;)
e OO DOOODODO O OO
e ;000000

g4 0 (i=chnn)
"1 (i=TDOD)
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OROEOE0E00 E0E0E0E000T
glm(y ~x + £, ...) 0OOO

> summary(glm(y ~ x + f, data = d, family = poisson))

R G
Coefficients:

Estimate Std. Error z value Pr(>|zl|)
(Intercept) 1.2631 0.3696 3.42 0.00063
X 0.0801 0.0370 2.16 0.03062
fT -0.0320 0.0744 -0.43 0.66703
...... (oooog) ...
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x + £ 000000

> plot(d$x, d$y, pch = c(21, 19)[d$f]) # data

> xp <- seq(min(d$x), max(d$x), length = 100)

> lines(xp, exp(1.2631 + 0.0801 * xp), col = "blue", lwd = 3) # C

> lines(xp, exp(1.2631 + 0.0801 * xp - 0.032), col = "red", lwd = 3) # T

S .
. .
ﬁ_ ) . ]
o e o e e
S
&
T co—
o -
< -
o ) .
o~ — °
T T T T I
7 8 9 10 11 12
dsx
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O00000000O00 000000000000
O000000000000000000
e fi=C: )\ =exp(1.26 + 0.0801z;)

o fi=T: A = exp(1.26 +0.0801z; — 0.032)
= exp(1.26 + 0.0801x;) x exp(—0.032)

. 0000000 exp(—0.032) O
s ooooooooooo!
O
O
0S
O |ooo
N 0ooo

T I T I

5 10 15 20

oooo x
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O00000000O00 000000000000
000000000000 000000 0O

(A)0oooooo (B)ooooooo
A= exp(BL+ oz +---) A=Bi+Bar -
<,.| 00O .| 0OO
|:|H —
|
DO o
0= —
- gono goo
|00 oo
T T T T T T T T
5 10 15 20 5 10 15 20
ooogd z; ooog z;
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Oo0oo0ooo GLM: DO0O0O000o0o O0O0oOO0O000000 OOoO0O0OoO0O0O0000o0

GLM: 0000000 DODOOoOooooo

0o0o0O0o0ooooDooooooooog O000O0OO0lgOOOOOOOOOOO
o o o ,io
©— o ©— o/
o o o Jo
<~— ‘,.”' <~— K
> /oo" o = og7d o
o~ ’,—” ~— e
Qe”l oo o [ele) 00.-0
e Segeet % T 1 © =) =60 T 1
- 5 1.0 1.5 2.0 05 1.0 15 2.0
o] T o T
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Oo0oo0ooo GLM: DO0O0O000o0o O0O0oOO0O000000 OOoO0O0OoO0O0O0000o0

goodboodbotobootdbooun

BEETIORE
fEERAXETIV

e MCMC
to&H EE&
HEtET Y .

T S~—R iR S ATz 1%

vk BT Ui
) BREE

EEESE

EFZE - BT E
EWoEEMR

EODNEL —RILRRFETIL
(GLM)
Bﬁﬁﬁu%& R/NZFIE
RN EHD —s
UL BEETIL

goooooooogoobooooooboooobgoon
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ooooooooooooooOo GLM

4. 00000000000 DOO0O0O GLM

gobboboooobooo

ooooobooobobooonbooo
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O0: O00000000 O

000 N; =8
« 0000000000000 0000
CcCeOO

e 00: 0000000000 a0 000 4 =3

e JO0ODOODO 80 OOOO
ooo

e JODOO:00DOODDOO
oon
e JODO: 00 2000000 16000000000000OO0

e 300000D0L0 —DhOUODLODODLODODLODOD
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OO0000000000000000000 O

gogoooond o012 345 6 7 8
googoooot 12136 6 100

goooo o4
ooooog«+ T

T T T 1
0 2 4 6 8

ugbooboooog v

gobobooobooobooon
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0000 g 0oodoogn

bbb gbobobgn
gogd

U0 0 N;UDO o, UOOOLOUONO

1

plyi | q) = <N?>qyi<1 N,

oo

OO0
U0 bDbUoobbuouon q
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ooooooooooooooOo GLM

000
O0: 200000000000000000

00000 {y} 000000 0ODOODO
O gbbobobuoboooug
U0 O 200000000O0O0OOUOOODOO
goooogn qDDDDDDDDDDD

L(ql{yi}) Hp vi | a)

goooogoonb o1 2 3 45 6 7 8
goooooonb 121 36 61 00
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OO00odboododdn

0000 L(¢|000)00000000O0OO00OO0O
OO0 qUO0OOb0Od
oo uooooon

20 N
logL(qDDD)Zlog< Z)
i=1

Yi
+>_ {wilos(q) + (N — ) log(1 — )}

oo bbbbbibibi q

ooooboobodobdodod
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Dooo (MLE) 0DOOO

e« J00UD L(g|00D0)0000O0ODDODOOOOO g0ODODOO
googod

e 0000 logL(¢|00ODO)O
¢000000 0000 §
goboboogd
JlogL(q |O00O0)/0g=0

e UUO gOOOUBLOO
gboboobobobon

g

;= 20000 B 6000
T Hoooo 160

_4|0

log likelihood
4i5

-E|)O
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ooooooooooooooOo GLM ooooo GLM

OOoobod GLM

gobbboooobboodd
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ooooooooooooooOo GLM ooooO GLM

GLM 0000000 legistic DO OOOOOOO

Joooooooooonbon
.00 goon
.DDDDD:e.g.,Bl—Fﬁgaji

e o
T T T T T
8 9 10 1 12

.O00000: logit OODOOO Do00o00d a
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NOOOO yOOOooDoooo...ooo

U000y oo ooo!
gotd«gobog»dbdonogn

D0 popoo N =s

[ JOX Ne©J
oo f; 0e00
c:oooo oo g=3

T:000od 0000 (alive) J e
0000 (dead) O o

googd x;

P g
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noooooooon R

datada.csv 00 CSV (comma separated value) format file OO OR O
ggoooobooooboood:

> d <- read.csv("datada.csv")

or

> d <- read.csv(

+ "http://hosho.ees.hokudai.ac.jp/ kubo/stat/2014/Fig/binomial/datada.csv")

D000 d0000000 data frame (0 O0OO000O)
ooodgnd
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00000 GLM
data frame d 0 0 0O [

> summary(d)

N y
Min. :8 Min.
1st Qu.:8 1st Qu.:
Median :8 Median :
Mean :8 Mean
3rd Qu.:8 3rd Qu.:
Max. :8 Max.

kubo (http://goo.gl/iZRa3R)

Q0 0 O O W O

X
.00 Min. 7
.00 1st Qu.: 9
.00 Median : 9
.08 Mean : 9
.00 3rd Qu.:10.
.00 Max. :12.

000000000 (1+2)

.660
.338
.965
.967

770
440

C:50
T:50

2016-03-18
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ooooooooooooo ‘R

> plot(d$x, d$y, pch = c(21, 19)[d$£f])
> legend("topleft", legend = c("C", "T"), pch = c(21, 19))

00 — * CMIODEODO0 D o

® 200 o o

e o
- O
.

ooooogn

ooboooboo ooooooe
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ooooooooooooooOo GLM oooooooooooo

goooobooogoon

Oooono legit OO0 OO

kubo (http://goo.gl/iZRa3R) 0oooooooo (14 2) 2016-03-18 97 / 104


http://goo.gl/iZRa3R

ooooooooooooooOo GLM gOooooooooooo

OO000: NOOOO y0OOOO0OOO

o | M) = (3 )

(]Z)DNDDDDDDDDDD yuoboooboooboboobood

00 p(yi | 8,q)

kubo (http://goo.gl/iZRa3R)

0.4

°.q¢=0.1
S q—08
ofi /// \\\

VAN

<° °<

._._..—-. ._._.a._.

T T T T
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Yi
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OO00o0dboooboooboddondn

00000000 (2: 000000e.g. 2 = f1 + Poxs)

¢; = logistic(z;) =

1
1 4 exp(—=2;)

> logistic <- function(z) 1 / (1 + exp(-2)) # 0O OO0

> z <- seq(-6, 6, 0.1)
> plot(z, logistic(z), type = "1")

o0 g

1

qa= 1+exp(~7

00 02 04 06 08 1.0

<3 R

4 2
oa

)

2 4
oo0o =z

kubo (http://goo.gl/iZRa3R) 000000oooo (1+2)

6
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logit link function

o logistic O [
1

1+ exp(—(p1 + Pax))

q= = logistic(f81 + Pax)

o logit 0O

logit(g) = log 7 z e B1 + Box

logit [0 logistic 0 O O O O logistic O logit 0 O OO

logit is the inverse function of logistic function, vice versa
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> glm(cbind(y, N - y) ~ x + f, data = d, family = binomial)

Coefficients:
(Intercept) X fT
-19.536 1.952 2.022
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